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1.What does a Network Re-build 'consists of? 

A. Replacing existing amplifiers with Wider-bandwidthproducts 

B. Replacing existing amplifiers and subscriber taps with wider-bandwidthproducts 

C. Construing a completely new plant in parallel with the old 

D. segmenting thenodes 

Answer: B 
 
 

2.What is the difference between the levels when combining broadcast traffic and narrow cast traffic at 

optical receiver.? 

A. 2 dB B. 

4 dB C. 8 

dB D. 16 

dB 

Answer: B 
 
 

3.What is the target optical input level to a Cisco node? 

A. -17dBm 

B. 0dBm C. 

+3dBm D. 

+17dBm 

Answer: B 



Trying our product !

Guarantee & Policy | Privacy & Policy | Terms & Conditions 

Any charges made through this site will appear as Global Simulators Limited. 
All trademarks are the property of their respective owners. 

Copyright © 2004-2014, All Rights Reserved. 

★ 100% Guaranteed Success 

★ 100% Money Back Guarantee

★ 365 Days Free Update

★ Instant Download After Purchase 

★ 24x7 Customer Support   

★ Average 99.9% Success Rate

★ More than 69,000 Satisfied Customers Worldwide 

★ Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

Need Help
Please provide as much detail as possible so we can best assist you. 
To update a previously submitted ticket:

http://www.itexamservice.com/

	
	2.pdf
	frondpage.pdf
	tou.pdf
	空白页面


	end page.pdf
	tou.pdf
	空白页面



	3.pdf
	frondpage.pdf
	tou.pdf
	空白页面


	end page.pdf
	tou.pdf
	空白页面



	1.pdf
	frondpage.pdf
	tou.pdf
	空白页面


	end page.pdf
	tou.pdf
	空白页面







